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() 2.5 x 102[L2/(mol? - 5)]
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5 7 (&) 95.0 (%)
SRR OB RO EIEE)
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LA DRE, K7, BROEBERDD L,
Lt 12
REFEOHEE: 79.2 mg x (Z;) =21.6 mg
' ' 2.0
KEOEE: 18.0 mg x (;g) =2.0mg
1 .
@ EROEE: 300 mg-21.6 mg-2.0mg= 6.4 mg
LA HOERE CHO, L T5H L
21.6 2.0 6.4
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22—A

L

ST EEEEAY—BAR (MHEE) BB (AN WS

o)

A4 Y ARBEOEBIZER LT B0, ANA VRS EFIC W T RRICE
BECHoARSELERBREESVET.

(2)

TR £ 5L, ARA YV ADEREEIOIE LD, EOAE X, MHEICES
P, WRAHTANS VELETAOBRLNEHATELHOEH Y T,

3y

BV NAN, BFYVT, ATVEDED s nEE. BEEEELTOSRD, BRIE
FiFe LY, YOAREND ROLEBPLELEE L, (68 =) '

@

VT v T e AT W R 5 ROFES b AR 2 20T A
T KU FCIRT2.5%, AR I—= % TH 66%2 3 DL EORBEBBUET L
(76 %) I

(5)

BEADLSIT, BebdEk, BROAMNEERFEERMED < TN TEBER
Thok LV ERITELATEE L, BebOEHEE, HBLEUL > T HEFR P O
BBEALDAZIEHINTVWSERTT.

(L

The 2020 Olympics used some very special images. These were called “Olympic pictograms”. About
50 images were created that showed various sports at the Olympics. Pictograms show the meaning of |
a word as a picture, The first Chinese characters were pictograms, for example, showing the sun, the
moon and a person. In the 2020 Tokyo Olympics, many people around the world enjoyed these new

-pictograms.

(2)

I think that pictograms are useful. When I was first learning Chinese characters, the simple pictures

interested me. My teacher showed me how the character for ‘sun’ came from an image of the sun,

and how the character for “person’ locked like a human with very long legs. These pictograms helped
“me learn how to read Japanese. (57 words).

(1)

) @ (o)

(&) - : - ® (a)

(e)

(2)

(e) (b)

@
. () @ (c)
(b) ' :

3

J o el o e e e

) (c) ) (d)

(7] (d ' (=) (c)

() (b)

(4)

(b)
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22-3 Bl

%" W@ B & A &
L An svolutionary biclogist is a scientist who studies how the process of evolution’
works in plants and animals. '
|2 (q) disappear (b)| adapt (c}{ spread (d)| rapid
3 ‘Animals and plants evelve: faster because they produce new generations much quicker
than humans. .
The Hawl’ s Beard plant adapted to the city by producing more heavy seeds than light :
. ?ngﬁér zﬂ:;? seeds would fall to the'soil.around.the parent p%ant rather than float —
5 ((a) population (h) cut off
16| Their bodies developad a resistance to mange.
a .cities
8| . Some members of a species survive better and have more offspring than others. L
L) PRI —D -1 OREOUFOMEHEDEZL
2l(4)| TRy ——X1 OBEERE SWEYET B RENARENTN L
131 @
4|(x)} remembers my telling him . .
. ﬁ%?—bf%ﬁ%ﬁ&%f@*@,@@ﬁ&tﬁi:tm%:&ﬁ%ﬁ%@b%:tt
H5T2ATH 5. o
Sl | @b P RS 5 REEE } I BEBLTVER D,
71| BE0SYF -k LR LODRTEBLNBRIRASEI L.
. ??ﬁhtétﬁ%T&ég,bEwﬁ%@ﬁ&@ﬁik%#géﬁozk%ﬂﬁw?%
ZLE, BERELTLNTWRILTT,
1(1) @ @ @ (3) @
Andy began to be envious of Chris when he found out that Chris had a big brother
a | who taught'him how to arrange blocks.
2 Andy felt jealous when he noticed that Ben was paying more attention to Chris
b |. than him. ' . : —

sBES |

AR
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